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Q1. (2+3 =5 points). The safety supervisor at a large manufacturing plant believes that the number of industrial accidents per month Y follows the Poisson distribution of the parameter 3.
a) What is the probability of exactly two accidents occurring next month? 
b) What is the probability of at least two accidents occurring in the next three months?









Q2. (2+3 =5 points) A poll of 8 voters is taken in a large city to determine X, the number in favor of candidate A. Suppose that 65 per cent of all the city's voters favor this candidate. 
i. What is the probability that at least two of selected voters is in favor of A?
ii. What is the expectation and standard deviation of the number of voters selected in favor of A?







[bookmark: _GoBack]Q3.  (5+2.5+2.5=10 points) Disks of polycarbonate plastic from a supplier are analyzed for scratch and shock resistance. The results from 100 disks are summarized as follows:
	 
	 
	Shock Resistance

	 
	 
	High (A)
	Low

	Scratch resistance
	High (B)
	70
	9

	
	Low
	16
	5


Let A denote the event that a disk has high shock resistance,
and let B denote the event that a disk has high scratch resistance.
1. Using the information given, find the following probabilities.
· P(A’)


· P(A or B)



· P(A and B)

· P(B |A)



1. Are the events A and B independent? Provide a probabilistic justification why.



1. Are the events A and B mutually exclusive? Provide a probabilistic justification why.



